Algebra Il Chapter 10 (Conic Sections) Review

The review for the final must be completed by the date of the original final exam in order to be

eligible for a reassessment in the event of a failineg final exam.

Please show all work and answers on separate paper. The test will contain ~25 total questions. Test reviews are
due on test day - NO LATE REVIEWS ACCEPTED.
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Write an equation for a graph that is the set of all points in the plane that are equidistant from the point F(-7,
0) and the line x =7. (Page 565, Example #1)

Write an equation for a graph that is the set of all points in the plane that are equidistant from the point F(-3,
0) and the line x = 3.

Write an equation of a parabola with a vertex at the origin and a focus at (-2, 0).  (Page 566, Example #2)
Write an equation of a parabola with a vertex at the origin and a focus at (0, —7).
Write an equation of a parabola with a vertex at the origin and a directrix at y = 5.

Write an equation of a parabola with a vertex at the origin and a directrix at y = -7.

1
——— %2 (Page 567, Example #4)

Identify the focus and the directrix of the graph of %

1

Identify the focus and the directrix of the graph of = 7

Identify the vertex, focus, and directrix of the graph of ¥ = % (x—2)* + 5. Graph the parabola.

(Page 568, Example #5)

Identify the vertex, focus, and directrix of the graph of ¥ = % (x - 532 + 2. Graph the parabola.

Write an equation of a circle with center (-5, —8) and radius 2.  (Page 572, Example #1)

Write an equation of a circle with center (-8, —2) and radius 5.

Write an equation for the translation of z2 + 2 = 25, 2 units right and 4 units down. (Page 572, Example #2)
Write an equation for the translation of x2 + y2 = &4, 5 units left and 7 units up.

2
Find the center and radius of the circle with equation (x + 5)2 + [y + 3) = 1d. Graph the circle.
(Page 574, Example #5)

Write an equation in standard form of an ellipse that has a vertex at (5, 0), a co-vertex at (0, —3), and is
centered at the origin.  (Page 579, Example #1)

Write an equation in standard form of an ellipse that has a co-vertex at (2, 0), a vertex at (0, 4), and is
centered at the origin.

2 2
Find the foci of the ellipse with the equation j—g + "‘;—4 = 1. Graph the ellipse. (Page 580, Example #3)
. . . . . x4 ¥e .
Find the foci of the ellipse with the equation St 1. Graph the ellipse.

Write an equation of an ellipse with center (—4, 4), vertical major axis length 14, and minor axis length 8.
(Page 593, Example #1)

Write an equation of an ellipse with center (-2, —5), vertical major axis length 10, and minor axis length 8.
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Write an equation of a hyperbola with vertices (2, —3) and (-10, —3), and foci (6, —3) and (-14, -3).
(Page 594, Example #2)

Write an equation of a hyperbola with vertices (4, —4) and (-8, —4), and foci (8, —4) and (-12, —4).
Graph the conic sections.  (Page 586, Example #1)

Graph 4x2 — 3y2 = 34, 25. Graph 1éy? — 9x2 = 144,
Graph lé(x + 3)2 — 4(y — 42 = 64. 27. Graph 5y — 2)2 - 25(x + 4)2 = 100.

Write the equations in standard form (this section involves a lot of completing the square). Then identify
the conic section. If it is a parabola, give the vertex. If it is a circle, give the center and radius. If it is an

ellipse or a hyperbola, give the center and foci. (Page 595, Example #4)

dx2 + Wt 4+ 3ix - Sy + 145 = 0 29. 5x% 4+ 15v2 + 40x — 60y + 65 = 0
¥ —dx+ b+ 29 =1 3l yi-d4x-10y+ 13 =10
Bxd -yt +48x -4y +0 =10 33, x-Sy a4 dlx-40y-85=10
4y +ix—-dy = -11 35. x4+ y?-dx— gy =11
) . y=x—4
Graph the following system of equations:
:J'::‘+y:4 = 1§

Identify the system as a linear-quadratic or quadratic-quadratic system. Then name the solution(s).
[hint: the solutions will be the points of intersection]

= —x+6
Graph the following system of equations: yeooEe

=4 yﬂ = 3f
Identify the system as a linear-quadratic or quadratic-quadratic system. Then name the solution(s).

Graph for #36: Graph for #37:




Blank Graphs for Chapter 10 Review

#9 #10 #15
Ty Ty
-10 = 0 X —J0 = 10 X —J0
#18 #21 #24
Ty Ty
-10 = 10 X -10 = 10 X —i0
#25 #26 #27
A y A y
-10 = 0 X —J0 = 0 X —J0
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Algebra Il Chapter 10 (Conic Sections) Review SOLUTIONS

(some of the graphs have been omitted to save space)
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focus (0, —3), directrix aty =3 8. focus (2, 0), directrix at x = -2
vertex (2, 5), focus (2, 7), directrix aty = 3 10. vertex (5, 2), focus (5, 7), directrix aty = -3
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(x+4)°  (y-4)°

Standard form: =1; ellipse with center (-4, 4), foci at (-4 + «ﬁ Ly

7 4
2 2
Standard form: (x 154) + (y 52) =1; ellipse with center (-4, 2), foci at (-4 + Jﬁ £y

Vertex form: X = %(y +3)? +5; parabola; vertex (5, —3)

Vertex form: X = %(y —5)? —3; parabola; vertex (-3, 5)

(x+3)* (y+2)?

Standard form: =1; hyperbola with center (-3, -2), foci at (-3 + /14, - 2}

8
2 2
Standard form: (x +52) - (y+54) =1; hyperbola with center (-2, —4), foci at (-2 £ Jﬁ ., — 4

Standard form: (x+4)* + (y —2)* =9; circle; center (-4, 2); radius = 3

Standard form: (X —3)* + (y —4)® = 36; circle; center (3, 4); radius = 6
linear-quadratic; (0, -4), (4, 0)
linear-quadratic; (-6, 0), (0, 6)



